Efficiency vs Dxy(PV)

< 1.2

efficiency vs dxy(PV,

%90 =15 -10 10 15 20
TP dxy(PV) (cm)
—— DQM_CRFFIL_T000evi
—e— DQM_CKFREFit_1000evt
—— DQM_MKFitREFit_1000evt
— —— DQM_TESTOLHIT_1000evt
[ Efficiend —— DOM_TESTOLHIT1000evt-50000t
S 1.2_ T
a [
> [
S I
%) I .
> : :
& o
s [
L L .
S 06 :
0.4F{
o.zt— :
AT
o T
5 F e
@ !
0.9 b
998-06-04-02 0 02 04 06 0.8
TP dxy(PV) (cm)
Efficiency vs Dz(PV)
< 0.8
a
§ 07
¢
2 0.6
(8]
5]
2 05
® 04 - :
03 oo d
0.2 = :

E 1 1
Qo+ N
© N N
o : :
I=---- - : """ :' =1 i i Sl
0.95; : . ; .
=30 -20 -10 O 10 20 30
TP dz(PV) (cm)
S 0.5

©
S N

efficiency vs dz(P
° &
w_ Ol

o
© N
N

0.15)

o
o o
(51N

0.l5 1
TP dz(PV) (cm)




	Contents
	Page 1


